i
13
iy
e=il
Pni
I

1. ¥(8%4
EH4 B R PSS 2 A B AR G
BT AT LR | [E e S S T

2. ¥EHENR

1) FHEI4 BRI EE FEAT  E R P
2) JBATHIM 162 HFH H &% 64 7THI2H

AF 64E12H20H

3) AN
AREIL, GUGIEESEGHR CERET 2EEICBW T, ERAZRD R 4XHR
DO T, FEMEGET 21T 6D Th D,

4) EBNE
LD &Y

_q - R st E N | e S



(B | GINEWNREZ &R RS E R
H H FEME
THH - TR - FERBI B % & f OB N R
FEE B 2V 234, 150
FEE ) 2V 234, 150
4 R FEE S X 234, 150 | 4 FRFLVE SR
7 =y
AROAE R E 7 L, (S e wn
Hu & = 547, 416
Lt = 547,416
B Hi ] oy 547,416 | BitjlE (MEZEFHHE)
1 S
B R B
0.004)1  (km2) &
Jitn R = 772, 690
ey 8l oy 772, 690
e ) = 772,690 | {EEFHE
1 kW
ik A
0.2 km
K B Mk & | &
0.2 km
THEMT I ==
0.2 km
AT 2
0.2 km
FEAMM R CRERTI &)
0.2 km
| R =X 7,642
-1- [ETAcims s RS



%Ll__l{l
I

EH4 | BINEWNREE SRR G S e WEES
H H B
THA - LA - A AN VA # 4 A OB N R
[EREF S =X 7,642
Vi Gk =X 7,642 | heE (FEE - ERE
1 =
(X3 Re = 1, 561, 898
M) = 1, 258, 102
R =X 1, 258, 102
WM oy 2, 820, 000
JE oy 7,011, 905
TR = 3, 591, 888
T 2 3,591,888 | JEBEKFEMIEET (A)
0.3 )1 (km) =
HEJ1/1, 000
TE A S YRR R
0.5 )1 (km) =
TH OO BRI TR 3% S B i AR A =X 157, 200
TE O BRAR R 5 S5 B AR T =X 157,200 | PREE S 5% SR EC [ M
1 A
— A SRR =X 3,262, 817
—JBAEE Y AR R R =X 1,732,368 | ¥EH L
2 )1 (DX
whm TR § = 1,530,449 | F & LRpERE
(1 D EREN
-2 - [E 72 AL A R



Tl
>

=
=

EW4 | BIRENRBER SRR S e HEFER
H B ER A
THH - TfE - FE5) AN VA * 4 A OB R
T bk
(1 )1 (&) 20
i@ X 634, 200
il GREFED) = 634, 200
e = 422,500 | fT&E
1 =
Z DA oy 84,500 | PRAHINHE I XL 2 HE
1 =]
SMHRTF = v 7 v— b OVER
2 T A&
2 BR Rl SR SV E AR = 127,200 | ZABARESESLVERY
1 ¥
[R5 = 429, 323
R3¢ = 429, 323
Vi ek =X 47,323 | et (i E - fERE)
1 =
PR R 2 382,000 | AR TER Y
1 =
EREM (ZOMFEMER<) =X 8,075, 428
Z O FA =X 4,045, 056
— RS L = 6,519,516
SEVSAmA = 18, 640, 000
SEVS A = 21, 460, 000

tAEE AL TR



